1.

V2T =aV3, Vi2=6Vb & ©, a + b ©] & Fstolet,

aﬂia—&-b:



2. A=V2+13 B=V6- V3L, v2A - V3B 2] 327

O V6-3v2+5 @ V6+3v2-5
® V6-3v2-5 @ -V6-3V2+5
B -V6+3vV2-5



=AVZE W, AR &

2.0
6 1-

A

29



= % Aol &2 A7

flo

) \/_+3\/_—5\/_+3\/_—5\/_+8\/_
2«/’ V2x V3 _2v6 V6 _ 2v6
®7_\[ \/_xx/_ 3 3 3

® 3\/_—4\/_28\/_

6
@ \/3_—%:\/§

® VI2+ V18 —4v2 =23+ 542






VZ=a, V6 =b 9, V006 + V00 2 a. b & ol§5tel vieh

1 1 2
— _ %p
® 5a+ 1Olb @) 5a+201b ® 10a + =
— — b
@ 10a + 25b ® 15a + 50



7. a, b7
b7 RS
d o,
Vo= + o=
=a+ bV7olA

ab 27

D 0
@
1 3 2 @
3
0B 4



8.

ZFA4 7 o tiste] VT 2
2 < V7T <30|ER £(7)
Totoi et

Y
-

2~
g A

2 21

g2 f(7) ol=kaL ShA}. o

g o, £(58) + £(66)

9



‘/_X\/7 \/7%{%

V5
©)
~-13

@

® 3

-2

@)

D V2

St ?

Ol
oL



el

o

,_.,_mo

2|
(&)
&
Ll |”
Q@ ©
ol
e
o
<t
l__l
— | A~ — o\l
M © @



